
Problema s«pt«m¥nii 40.

Un dreptunghi m × n este ��mp«rt�it ��n p«trate unitate. Spunem c« dou« p«trate

unitate sunt vecine dac« ele au o latur« comun«. P«tratele unitate se completeaz«,

pe r¥nd, astfel: mai ��nt¥i se alege un p«trat unitate �si se completeaz« cu 0. �In

continuare, se alege c¥te un p«trat necompletat �si se completeaz« cu num«rul p«-

tratelor vecine cu el care sunt deja completate. Aceast« completare continu« p¥n«

ce toate p«tratele unitate ale dreptunghiului au fost completate. Ar«tat�i c« suma

numerelor din cele mn p«trate unitate este aceea�si, indiferent de ordinea ��n care

s-a f«cut completarea acestora.

Problem of the week no. 40

An m× n rectangle is divided into unit squares. We say that two unit squares are

neighboring squares if they share a common side. The unit squares are labeled,

successively, as follows: initially, one choses a unit square and labels it with 0.

Afterwards, one choses a unit square that has not been labeled yet, and labels it

with the number of its already labeled neighboring squares. This process continues

until all the unit squares of the rectangle have been labeled. Prove that the total

sum of the labels is always the same, regardless on the order in which the squares

have been labeled.
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